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) 3Su# MH2 US|
1 1 —
B QEEE 600 Oj4'e] SBA MHlA BUUEA4T 26802 £%o0, o=
718 redzes EHYY FEYUFXRTL 6322 A LIEY

(Artf=Sed O|8AHn=1623), e[ FH)
] BY mum qe WY TR dke Bt ol SHE =0 SR 934
T i USE USE BN PR PR PRRE Sn 2% BEE g B2
A 578 579 578 618 546 563 564 621 626 640 514 578
A = 57.2 57.3 571 60.8 535 55.6 55.3 61.4 61.5 63.7 50.1 586
o= o 584 584 58.4 62.8 55.6 57.0 574 62.7 63.6 64.2 52.7 571
20CH 60.5 60.6 60.4 63.2 55.7 55.8 589 64.7 674 65.6 53.8 629
30CH 55.5 55.4 55.5 59.3 511 534 54.2 59.4 61.5 60.2 511 55.7
A= 40CH 56.1 56.7 55.9 61.4 54.0 53.0 54.6 59.9 60.4 62.7 491 53.7
50CH 56.9 56.8 56.9 60.8 52.8 55.3 55.4 61.8 59.8 64.0 50.2 571
60LCH O|Af 62.6 62.2 62.8 66.4 62.1 64.9 61.2 67.3 66.6 69.8 54.5 634
ME 58.1 587 57.9 63.3 525 57.8 55.0 62.5 62.0 63.3 531 59.0
HAE 61.1 60.4 614 63.3 61.5 55.0 62.8 64.2 66.4 66.2 56.4 63.1
O+ 56.9 582 56.3 571 50.7 45.6 56.3 61.8 61.1 62.5 53.2 53.2
OlX 60.2 594 60.6 64.3 59.9 61.4 588 65.6 65.1 65.4 51.8 62.2
= 56.9 60.4 554 59.9 547 40.3 533 62.3 59.9 62.7 48.1 519
WP 60.9 594 61.5 61.3 56.9 57.6 59.0 70.0 63.8 713 531 60.6
Sl 53.0 473 554 59.8 56.3 56.3 583 527 55.4 571 53.6 60.7
7= 47| 55.6 56.3 554 59.9 51.2 52.6 525 594 61.5 61.7 48.5 55.0
pNLe:]= el 63.6 65.0 63.1 65.0 58.9 61.7 60.5 70.6 711 67.8 55.6 61.7
== 55.9 535 56.9 59.0 515 513 585 60.5 63.5 67.0 47.5 54.5
=4 56.6 56.7 56.5 61.9 55.8 60.0 56.7 59.9 60.3 63.1 484 56.1
HE 554 54.6 55.7 56.9 515 67.0 55.2 58.8 61.5 62.7 50.8 55.8
M 60.1 581 61.0 66.1 62.1 65.6 62.3 66.1 64.9 67.3 524 57.3
42 61.3 62.2 60.9 66.1 56.6 61.8 619 63.5 66.4 67.1 53.9 62.8
aq 59.1 56.9 60.1 64.9 61.1 58.8 591 65.1 63.6 67.8 52.5 582
S ES 511 55.6 49.2 54.6 40.7 429 491 51.9 481 54.6 435 583
pAES CHEA| 58.6 587 58.6 62.3 55.2 551 57.0 63.1 62.7 64.1 531 59.2
" SATA| 57.0 571 57.0 61.3 53.6 57.2 55.5 61.0 62.2 63.7 49.9 56.8
=2 SHXY 58.7 57.6 59.2 62.5 58.2 574 587 63.4 64.9 64.9 50.9 56.7
S/U/H /=AY 67.1 65.9 67.6 716 67.6 75.0 67.1 69.3 716 72.7 62.5 67.0
ARy 537 53.7 53.7 58.3 514 53.6 513 58.2 56.6 58.8 47.5 54.9
oo/ 7| &/ = 22 57.5 56.8 57.9 60.6 544 53.0 574 62.7 63.0 64.0 50.1 60.3
R HE/AFR /22| & 56.7 57.2 56.4 60.2 525 551 55.4 60.2 61.8 62.9 50.9 55.7
HAFH 60.4 59.6 60.8 65.4 58.0 584 59.0 65.1 65.7 67.0 535 59.9
S 61.9 62.2 61.7 64.3 56.0 58.3 59.0 67.3 69.0 66.1 56.0 65.2
Bxl/7|Ef 61.3 62.7 60.7 66.3 58.4 58.8 59.2 65.9 64.4 69.2 524 577
=Z0|38} 63.9 63.2 64.1 68.0 63.1 65.6 62.0 69.1 66.3 721 574 64.1
Shad nES 584 57.8 58.7 61.4 55.5 56.3 57.3 63.4 64.2 64.9 50.7 61.0
s CHE(FE2C) =8h 56.5 571 56.2 60.8 524 54.7 54.9 60.2 61.2 62.1 50.8 55.5
CistIE O|At 57.7 56.9 58.0 63.2 56.2 52.0 56.7 62.3 62.3 63.8 50.9 56.0
2002+2 0|2t 61.6 61.7 61.5 65.7 61.5 63.9 624 64.6 64.0 66.6 56.0 61.7
200-3992t2] 57.5 57.0 57.8 61.1 535 551 55.8 62.9 63.6 64.5 511 57.8
2AEH 400-5992+2] 571 574 56.9 60.4 53.8 55.9 55.7 60.7 61.7 63.7 50.5 56.6
60022 O|A 57.9 57.9 57.9 63.2 534 521 55.3 63.0 62.3 63.5 523 57.0
nE/aset 56.3 57.0 56.0 60.4 53.9 57.6 55.3 59.5 61.5 61.5 48.1 584
oAl 32 0|2 60.6 59.9 60.9 63.7 59.9 60.1 61.5 65.7 66.0 67.5 533 614
OOHE:‘ HSXZ 0|8 56.5 56.9 56.3 60.9 51.9 54.9 54.0 60.4 61.1 62.2 50.8 56.0
B&HA = L} 0|8 54.9 55.3 547 61.2 511 51.0 53.0 58.1 57.6 62.1 46.9 55.3
HoggolzME 56.2 57.5 55.6 61.0 50.3 513 533 60.5 59.8 62.1 47.9 55.6
Soopym X|gego|zXME 571 581 56.7 62.1 51.8 56.1 535 60.8 61.5 62.7 50.2 577
< i = Xedego| =7 |8 61.2 583 624 63.9 63.8 64.8 64.3 66.8 67.7 68.3 56.3 60.2
2 SEol= |2t 2| oj=r et 62.3 62.1 624 60.9 65.2 65.5 63.2 67.6 67.2 68.0 63.3 60.5
nEaset 57.5 55.0 58.6 59.7 57.5 59.4 61.1 60.8 63.7 65.1 52.6 59.2
AMaSeEel 56.1 573 55.6 60.7 48.7 51.0 517 60.8 613 62.1 48.2 56.3
olz7|at = 58.2 58.0 58.3 62.3 56.4 58.5 57.8 62.2 62.3 64.1 521 581
OB el 63.2 629 63.3 65.2 64.2 65.3 62.3 68.8 69.1 69.3 59.8 60.8
o= 7|Ef 90.9 93.8 89.6 93.8 | 1000 @ 875 917 93.8 93.8 93.8 87.5 87.5
nE/aset 57.5 55.0 58.6 59.7 57.5 59.4 61.1 60.8 63.7 65.1 52.6 59.2
Sau Ague 577 575 577 618 550 567 567 617 624 636 514 579
HIESEf EtRHY o2/l 59.1 60.6 58.4 61.9 518 54.3 54.2 64.8 64.1 66.5 516 57.3
224 T=/Ue 60.7 60.4 60.8 63.7 54.9 56.9 589 64.1 63.6 66.1 54.5 59.6
E|AISERH H7t 56.5 56.7 56.4 61.0 54.5 54.0 55.1 61.1 62.1 63.0 50.0 57.0
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) Sed MHA HEH HERE
1 1 1 1
B SEA S822 2H, 600} 0]4'(50.2%), 'THEA['(46.6%)0A S5 AH| X0
et BEZE0] =2 LIEE
(A== ES5d 0l8AHN=1623), THel:E, %)
) @ ® @ ® Y }
=2 A= 5 == o) i
Koy

HH| 1623 57 134 36.2 33.3 115 190 44.7 57.9
A e 802 71 130 350 334 115 201 449 57.3
c= SE! 821 43 138 374 331 114 180 446 584
20CH 243 5.3 103 346 36.2 136 156 49.8 60.6
3och 398 5.8 176 354 317 95 234 412 55.4
Sl 4oty 375 6.4 117 405 312 10.1 181 413 56.7
50cH 346 6.9 142 341 344 104 211 44.8 56.8
60CH 04 261 31 111 356 345 15.7 14.2 50.2 62.2
Mg 332 36 142 36.7 346 108 178 455 587
HAb 113 35 106 389 345 124 142 469 604
T 70 71 114 357 329 129 186 457 58.2
oI 96 63 146 292 354 146 208 50.0 59.4
a4F 53 5.7 5.7 377 434 75 113 50.9 604
™ 40 5.0 150 275 425 10.0 200 52.5 594
24t 28 143 214 321 250 71 357 321 473
= 77| 387 6.5 16.0 339 333 103 225 437 56.3
pa[e:1E] zg 45 44 89 267 422 178 133 60.0 65.0
58 50 8.0 140 400 320 6.0 220 380 535
s 78 77 167 346 231 17.9 244 410 56.7
xe 65 77 108 49.2 200 123 185 323 54.6
e 62 32 129 403 355 81 16.1 435 581
ze 76 5.3 6.6 36.8 36.8 145 118 51.3 62.2
A 101 5.9 119 426 277 119 178 396 56.9
ES 27 74 111 407 333 74 185 40.7 55.6
7z CHEA| 732 49 131 354 352 113 180 46.6 58.7
» SAEA 809 6.4 136 365 321 114 200 435 57.1
TEE SO 82 49 134 415 268 134 183 40.2 57.6
5/U/01 A/ F 4 44 23 114 295 341 227 136 56.8 65.9
A3 278 94 158 353 29.9 9.7 252 396 537
Lol 7| &/ 22 194 6.7 134 36.6 325 108 201 433 56.8
EQyH M2/ AR/ 2| E 608 5.9 140 36.5 326 110 199 436 57.2
HYFR 311 35 122 383 341 119 158 46.0 59.6
SHAY 84 24 95 345 440 95 119 53.6 62.2
2x|/7|E} 104 29 106 346 365 154 135 51.9 62.7
sZo0¢t 153 39 85 379 301 196 124 49.7 63.2
Stadiy Ink- 442 54 124 369 36.0 93 179 452 57.8
it HEE20 =8 894 6.0 149 35.2 322 116 209 438 57.1
St IE of A 134 6.0 119 388 351 8.2 17.9 433 56.9
2008kl ojgt 197 46 71 411 315 157 117 472 617
200-3992+H¢) 425 54 134 386 329 96 188 426 57.0
NS 400-5998+2] 442 5.7 131 364 355 93 188 448 574
6002+2l O 353 71 139 329 329 133 21.0 46.2 57.9
RS/RSE 206 4.9 189 320 316 126 238 442 57.0
o Eitz 08 553 5.4 119 336 354 136 174 49.0 59.9
e ESXZ 08 981 5.4 142 378 325 10.1 196 426 56.9
B £ ctolg 89 101 135 348 281 135 236 416 55.3
MY S Fo| B ME 447 6.0 148 340 336 116 208 452 57.5
sopp  A9SSdEME 674 56 135 353 338 117 191 455 58.1
i x|oggolz 7| 294 48 102 439 293 119 150 412 58.3
7= sooppie o 64 16 125 344 391 125 141 516 62.1
2E/28¢ 144 83 153 326 354 83 236 438 55.0
AFEee 529 6.0 147 355 312 125 208 437 57.3
ozt ool 849 5.5 127 370 339 108 183 448 58.0
o el 97 10 93 402 361 134 103 495 62.9
Tes 7|Ef 4 0.0 00 0.0 250 75.0 0.0 100.0 938
2E/RSE 144 83 153 326 354 83 236 438 55.0
=4 Y= 1432 59 133 36.6 333 10.9 19.2 44.2 57.5
HESENE  ErE oz/HY 191 4.2 136 335 330 157 178 487 60.6
sS4l TE/Yd 512 47 129 324 359 141 176 50.0 604
SHNEEE A7t 1111 6.1 136 380 320 103 197 423 56.7
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4 S=4 MHA MRSSE USE (1008 2HE)

D S34 MHAQ MERS JH2H WHUAELEE), ‘AR F28 HF(621%),
SITE L MA(626%), ‘2|29 MHE (640 UFHEE MEE BIEE(57.9%)

20t =2 LiEtE

(Al2=S84 Ol8AHN=1,623), THe|7)

g #d UrE o=t SFEH 9=l 4 sad
7E ase  my EWRR o BWPE i Tan - pme SEETE ay
(n=1623) (n=1623) (n=1623) (n=623) (n=1471) (n=1622) (n=1623) (n=1623) (n=1623) (n=1623)

A 579 618 546 563 564 621 626 640 514 578

i g4 573 60.8 535 5.6 553 614 615 637 50.1 586

c= o4 584 628 556 57.0 574 627 63.6 64.2 527 57.1

20t} 60.6 632 557 55.8 589 647 674 65.6 53.8 629

30} 554 593 511 534 542 594 615 6022 511 557

SEWE] 40t} 56.7 614 54.0 53.0 546 59.9 604 627 491 537

soc 56.8 60.8 528 553 554 618 59.8 64.0 502 57.1

60r} O 4 622 664 621 64.9 612 673 66.6 69.8 545 634

e 587 633 525 57.8 5.0 625 620 633 531 59.0

oy, 604 633 615 5.0 628 64.2 664 66.2 564 63.1

o4+ 582 57.1 507 456 563 618 611 625 532 532

ol 594 643 59.9 614 588 65.6 65.1 654 518 622

25 604 59.9 547 403 533 623 59.9 627 481 519

Ci & 594 613 56.9 576 59.0 700 63.8 713 531 60.6

£ 473 59.8 563 563 583 527 554 57.1 536 607

= 27| 563 59.9 512 526 525 594 615 617 485 55.0

Nk Ze 650 650 589 617 60.5 706 711 67.8 556 617

3= 535 59.0 515 513 585 605 635 67.0 475 545

e 56.7 619 55.8 60.0 56.7 59.9 603 63.1 484 56.1

BE 546 56.9 515 67.0 552 588 615 627 50.8 5.8

Het 581 66.1 621 65.6 623 66.1 64.9 67.3 524 573

s 622 66.1 56.6 618 619 635 664 67.1 53.9 628

g 56.9 64.9 611 588 59.1 65.1 63.6 67.8 525 582

HF 5.6 546 407 429 491 519 481 546 435 583

2= CHEA| 587 623 5.2 55.1 57.0 63.1 627 64.1 53.1 59.2

" BaEA| 57.1 613 536 57.2 555 610 622 637 499 56.8

m=E S0ix| o 576 625 582 574 587 634 64.9 64.9 509 56.7

5/9/0[Q/ =M 65.9 716 67.6 750 67.1 693 716 727 625 67.0

el 537 583 514 536 513 582 56.6 588 475 549

BOj/7| &/ =2 5] 56.8 60.6 544 53.0 574 627 63.0 64.0 50.1 603

e SENCVEIEIE 57.2 60.2 525 55.1 554 602 618 629 50.9 557

HAFE 596 654 580 584 59.0 65.1 65.7 67.0 535 59.9

Btal 622 643 56.0 583 59.0 673 69.0 66.1 56.0 652

231/7|et 627 663 584 588 59.2 65.9 644 69.2 524 57.7

20|38} 632 680 63.1 65.6 620 69.1 66.3 721 574 64.1

siaig it 57.8 614 555 563 573 634 64.2 64.9 50.7 610

==E DIEE20) 23 57.1 60.8 524 547 549 6022 612 621 50.8 555

CHeIZ of At 56.9 63.2 56.2 520 56.7 623 623 63.8 50.9 56.0

2009H2 Ojgt 617 657 615 63.9 624 64.6 64.0 66.6 56.0 617

200-3998+gl 57.0 611 535 55.1 55.8 629 63.6 645 511 57.8

s 400-5998+2] 574 604 53.8 55.9 557 607 617 637 505 56.6

60082l Of& 57.9 632 534 521 553 63.0 623 635 523 57.0

DE/2SE 57.0 604 53.9 576 553 595 615 615 481 584

o $XI2 08 59.9 637 59.9 60.1 615 657 66.0 675 533 614

e HSXI2 0|8 56.9 60.9 519 54.9 540 604 611 622 50.8 56.0

A E k! 553 612 511 510 53.0 58.1 576 621 469 553

A SZo|ZMEf 575 610 503 513 533 605 59.8 621 479 5.6

sopp  NEg3d=ds 58.1 621 518 56.1 535 60.8 615 627 502 57.7

SE e X gggelz|# 583 63.9 63.8 64.8 643 66.8 67.7 683 563 602

TR ggoasim 9 daslE 621 60.9 65.2 655 632 67.6 67.2 68.0 633 605

DE/2gg 5.0 59.7 575 594 611 60.8 637 65.1 526 59.2

4o 573 607 487 510 517 60.8 613 621 482 563

olz|zt 39l 580 623 564 585 57.8 622 623 64.1 521 58.1

e L 629 65.2 64.2 653 623 638 69.1 693 59.8 60.8

TS 7|Et 938 938 1000 875 917 938 938 938 87.5 87.5

DE/2gE 55.0 59.7 575 594 611 60.8 637 65.1 526 59.2

CEN YR 575 618 5.0 56.7 56.7 617 624 636 514 57.9

BEDSIEN Etg olz)/He 606 619 518 543 542 64.8 64.1 66.5 516 573

EEN, +2/98 604 637 549 56.9 589 64.1 636 66.1 545 596

E|AIBEN e 27t 56.7 610 545 54.0 55.1 611 621 63.0 50.0 57.0
* 354 0184 16238 3 2 MRYSE F8EH2 EX0M Mol
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o HSIEE OF=x o (o
4 Sa4 MHA MESSE tEL (H=(%)
Hg o 1SH A & F L o,y ‘Oo|lE2X|o| X2ESL MY’ )
B8 824 AMH[A9 MEZS 7120 HEEX(E9.0%) Clzflel s A (53.3%),
: ' ) = HIA OF= )
‘ST U MA(537%) ‘R0l AEE(548%9] DHEZ7F FMULK OIS (44.7%)
[
HCt =A LIEHE
(AtEfl==S24 0|8AKN=1,623), TH:%)
]
FubE 1P U= ol SHERX QR g 224
S BEs  omx EWRRE o BIWRRY e T pme SRRUE Tuy
(n=1623) (n=1623) (n=1623) (n=623) (n=1471) (n=1622) (n=1623) (n=1623) (n=1623) (n=1623)
= 247 490 384 419 421 533 537 548 323 425
=M 449 488 377 426 41.0 51.6 51.2 549 30.7 440
)ghg A 446 493 39.1 411 433 55.1 56.0 54.7 34.0 40.9
20CH 49.8 48.6 37.0 35.2 442 579 60.1 56.0 329 477
30LCH 41.2 457 344 39.6 40.8 49.5 52.5 49.7 309 39.7
G|E1|:H‘=‘1 40CH 413 48.5 36.3 347 378 483 50.7 50.9 31.2 36.3
seTE 50CH 448 488 37.0 440 417 54.0 50.9 56.6 318 419
60CH O|A 50.2 55.6 50.6 54.3 493 61.3 57.5 64.4 36.4 51.3
ME 45.5 50.9 337 426 39.1 53.2 52.7 524 349 443
= AL 46.9 53.1 504 375 50.0 55.8 584 59.3 41.6 53.1
_E'Hl—_r'_- 45.7 471 35.7 294 426 529 54.3 55.7 414 457
olX 50.0 52.1 46.9 424 489 594 58.3 61.5 333 49.0
o4F 50.9 453 35.8 222 34.8 50.9 491 52.8 283 35.8
CH 52.5 50.0 45.0 478 41.0 62.5 62.5 725 30.0 50.0
4t 32.1 35.7 393 375 444 429 46.4 46.4 32.1 46.4
7‘|Z|:— 47| 437 46.5 32.8 428 37.1 494 52.5 49.6 284 377
pN[e:1=E] P 60.0 55.6 489 40.0 488 711 689 60.0 444 489
BE == 380 260 380 300 447 540 540 640 280 400
=4 41.0 487 39.7 40.0 38.8 51.3 50.0 56.4 29.5 423
e 323 323 338 57.1 448 477 52.3 50.8 323 369
Mt 435 56.5 50.0 53.1 529 58.1 56.5 54.8 323 339
a8 51.3 61.8 421 50.0 50.8 55.3 59.2 63.2 27.6 447
ag 39.6 50.5 46.5 471 48.2 584 50.5 56.4 29.7 38.6
Xo‘”—’f— 40.7 37.0 185 0.0 29.6 37.0 259 481 222 444
= CHEA| 46.6 50.0 39.2 39.2 424 54.3 54.5 55.9 35.5 46.2
7-IT SATA| 435 481 37.1 445 41.5 52.3 52.5 539 29.8 393
H'Ehg SHXY 40.2 50.0 439 40.5 46.7 549 573 537 29.3 40.2
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